Here is some information you may find useful:

energy and momentum of a photon:  
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Stefan-Boltzmann law:  
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Wien's displacement law:  
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Rayleigh-Jeans law:  
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Wien's exponential law:  
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Planck's law:                                                   

Photoelectric effect:  
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Compton effect:

de Broglie wavelength:  
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interference minima:  
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diffraction angle:  
[image: image8.wmf]d

l

q

=

sin

  

Uncertainty relation:  
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Special Relativity:




gamma:  





Momentum:  
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Kinetic energy:  K = E - m(c2



Total energy:  E2 = p2c2 + m2c4 ;         E = ((m(c2



Time dilation:  (t = (((t’




Length contraction:  L = ((L’




Lorentz Transformation:

x = (((x’ + v(t’)











y = y’











z = z’











t = (((t’ + x’(v/c2)
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